Face Lab Questions

1. Find another couple and compare your child with their child. List five traits which both of your children have (your children are concordant for these traits).

2. Using the same child for comparison, list five traits which are different in your children (your children are discordant for these traits). 

3. How did you determine which chromosome (with its associated gene) each parent would contribute to the child?

4. If each coin represents a homologous pair of chromosomes, how does the flip represent the behavior of chromosomes on meiosis?

5. Using an example from this activity, explain your understanding of the words genotype, phenotype, dominant, recessive, allele and locus. Use each word in a complete sentence.

6. What is the probability that both recessive genes will be contributed to the child for a specific trait? (remember, both parents are heterozygous).

7. Use examples from this activity to explain the difference between complete and incomplete dominance.

8. Recall your observations of several other children produced by your classmates. Use Mendel’s Law of Independent Assortment to explain why each child is different.

9. Tabulate the ratio of dominant to recessive phenotypes in the traits numbered 2,7,9,10,14,15,16,18,20,22,23,24,25,26,28, and 29.

10. Examine the genotypes and phenotypes of the skin color. Summarize the relationship between the number of active genes and the color of the skin.

11. Examine the instructions and data regarding chin shape. Explain how the chin shape flip influences the two subsequent traits. Use the word epistasis (Epistasis is the interaction between genes) in your explanation. 

